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1. A family buys a house with 100,000 YTL loan to be paid off in ten years by equal mathly
payments. The loan company charges 1% monthly interest on the unpaid balance,
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a) (5 points) What is the monthly payment?
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b} (10 points) How much interest does the tamily pay in the first year?
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¢) (3 points} How much interest does the family pay .ctally?
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d) (5 points) How much does the family owe just after the next to Jast payment?
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2. a) (12 points) Solve the following system using Gauss-Jordan method.
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Please use the table, or otherwise indicate what you do at each step.
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2, continued
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For the systems in b) and c)

o write the system of equations each corresponds to
e [ind the solution(s) if it exists
» indicate if the system is consistent or inconsistent
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Ig Minimize and maximize
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5. (10 points) Ebru Hanim has a workshop making sewn gifis for children. This month she is making
4 kinds of gifts: a dog, a cal, a camel, and a turtle.

She uses 4 different fabrics (cloth materials).

The dog takes 25 cm of fabric A, 10 cm of material B, none of fabric C and 15 ¢t of fabric D.
The cat takes 5 ecm of fabric A. 15 ecm of fabric B, 50 ¢m of fabric C and 2 c¢m of fabric D,

The camel takes 20 cm of fabric A, 20 cm of fabric B, 10 em of fabric C and 10 ¢m of fabric D.
The turtle takes & em of fabric A, 10 cm of fabric B, 20 cm of fabric C and 10 cm of fabric D.

Ebru Hamm has 3 metres of fabric A, 4 metres of fabric B, 2 metres of fabric C, and 5 metres of
fabric 1.

The profit on a dog is 8 YTL. The profit on a cat is 3 YTL. The profit on a camel is 6 YTL, and the
profit on a turtle is 4 YTL.

How many of each gift should Ebru Hamm produce to make as large a profit as possible?

Write the decision variables, appropriate equation(s) and inequalities so that this problem can be
solved.

DO NOT SOLVE THE PROBLEM after you have written the equation(s) and inequalities.
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